BER YW BN ETRT IS
SM4E1158268  (£)  (F8)

R4 Hiy \FE (A) |ZE (H) | AGE
AR X 65 11 1, 300
A= kg 118 37/ 1,000
*= kg - 3 -
TDF (X&) kg - - -
X kg 50 21 1,000
F N kg 87/ /6 800
[E 2 NAZH 3 - - -
INFEF kg 756 540 40
I=E kg 432 81 300
-z kg 810 216 200
BHlT7ZT— 18] - - -
L XX kg h4 11 600
ZH I kg 216 97 300
B kg 238 49 150
BN 1] 324 216 —
7 X kg 432 389 h4
r A kg 432 2/0 hg/
E—v > kg 324 162 200
DA kg — - -
ISE = - - -
A(=FI-> X - - -
77=Z i - - -
127 kg - - -
XTI >R kg - - -
NN kg - - z
H#Z kg 216 22 261
& in 2 kg 140 /5 200
EHF kg 194 22 1/1
Y4 kg 140 96 600
X -P kg - — -
4= kg - ~ -
FHE kg 1, 080 216 8/
el x= - - -
nEE3 E3 - - -
IR x - - -
e kg : ~ -
FoUE 3 - —~ -
EF kg 259 194 130
A kg 302 108 H20
#1E (D88) kg - - -
i (7 373 AF ) kg 432 - 10
Hig (5 L) kg 497 475 10
==z kg 259 151 940
EBAT kg = - -
3 kg = - -
= A 2/0g - — -
HALZ. kg - - -
i/ kg - - -
EADA kg - — -
F—/JLX X O kg — — -
FOTXX O Kg - - —
L JYPNIX O kg - - -
IN—Ah T X O Kg - - -
BT ES = — -




